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Série 3 de Dualité

Exercice:

Formuler le problème dual de chacun des programmes linéaires suivants:

max Z = 2x1 + 4x2 + 3x3

(P1)


3x1 + 4x2 + 2x3 ≤ 60
2x1 + x2 + 2x3 ≤ 40
x1 + 3x2 + 2x3 ≤ 80
x1, x2, x3 ≥ 0

max Z = 3x1 + x2 − 2x3

(P2)


x1 + 2x2 ≥ 10

3x1 − x2 + x3 = 7
x1 + 3x3 ≤ 8

x2, x3 ≥ 0

max Z = 10x1 + 14x2

(P3)


x1 + x2 ≥ 12
x1 ≥ 8

x2 ≤ 6
x1, x2 ≥ 0

max Z = 400x1 + 350x2 + 450x3

(P4)


2x1 − 3x2 + 2x3 ≤ 120

4x1 + 3x2 = 160
3x1 − 2x2 + 4x3 ≥ 100

x2 ≥ 0
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